JE4L RT7 3 K % th| 2n | 3h | 4nh|Bh|6h| 7h | 8h | oh | &5t
1 |mE #E |[V/3V A4 [WOF HE |[P/3v avP| 4 2 2 4 3 2 4 2 3 | 26
2 |FH BH (327 ok |FFH sh— 32/ EOAX| 4 3 3 4 3 4 3 2 2 | 28
3 |RIR K |3H9h w151 | RIR A |FHYH HRem| 3 3 3 4 3 3 4 3 2 | 28
4 (g% ZE |¥I/ 3k [BEA B [vThT 97V 4 4 2 4 3 2 4 1 3|28
5 A% B |[2+H0 L |AFR FHW (7N ETHX| 3 5 3 4 3 2 3 2 3|28
6 [ER EMHEE |V T avoo(fil —BF [7Hv< 4707| 3 3 2 5 3 2 5 2 3|28
7 |®ub E |7EVY AFARUL —BR |7HY< 4F0Y| 5 3 4 4 3 2 4 2 2 |29
8 |E# 1% |+H4 avx |EH B2 |1 4hax| 5| 3| 3| 4| 3| 3|4 2] 2129
9 |&% BK |7HXY A |EAE AL |[7yxU vzen| 4 | 3| 2| 4| 4| 2 51 3 2 |29
10 |BE B2 |7on5 +Aax|BEE Mk |75~ aXv| 3| 4| 2| 4| 3| 3| 4| 4] 21|29
11 A% % |e¥/ 7% |AH FE=Zevs/ 4>vyyl 3| 3| 2|51 3|25 4| 2]29
12 |BX #iF |SVvE a9F|ERK &@F |svE+rEa| 4 | 4| 21 6] 2] 3| 5 31130
13 |EH S |04 3ox |BH %E#H |[E04 ETH 5 4 3 5 3 2 3 2 2 | 30
14 |RE Wik |44 2942 |RE {#E |+#4 enoeal 5 3 2 5 4 2 4 3 2 |30
15 [Bf ®1E oY) AR REE [3FY YL b 4 2 4 3 3 4 3 2 |30
16 |BH BR |14 #>2 |AA 1R |44 easy| 4 4 2 5 3 2 5 2 3130
17 |8l FEAL=E|77v< ++2|BILU BHFE |[79v~< X 4 3 3 4 2 3 4 3 3130
18 |2 B4 |/09* L+ (B BE |[yo0vx ears| 4 3 2 5 3 3 4 3 3130
19 |/n@E K [Ako /L |ngE @K Ak Fui 4 3 3 5 5 3 3 3 2 | 31
20 |BRA 2l [vhEF IR (BRA | [UhEF 47| 4 4 3 4 3 3 4 4 2 | 31
21 |8l F=E  |99v~ 2xF(fBlL BIR [ov<e x| 4 | 4| 4| 4] 3] 33| 3| 3|3t
22 |!MEER YT [39AR Uy [IMEER oYU <vER| 4 3 3 5 4 2 4 3 3 | 31
23 |BAF BT |(4+H /7 K #aR (R¥XES 7YH| 4 4 3 5 1 2 5 3 3 | 31
24 |EB sy [ALF BhY (B EBEth [2=H7 S| 4 3 3 5 2 3 5 3 3 | 31
25 |8RE E3} (445 HhA+ (BRE BEE |[14% /T 3 4 3 5 4 3 4 3 2 | 32
26 (B fEKE (4152 rozoy(BE B (4032 TV | 4 4 3 5 4 3 4 3 2 | 32
27 |BE E£HE |[19Y9F A [BF KE [179x Faz4| 4 4 3 5 4 3 3 4 2 | 32
28 |LE#t EE |YILs ALU|EEE B— |[vzho sv4F| 5 | 3| 3| 5| 4| 3| 4| 2| 3|32
29 |AKR BIKER |#=€+ srsny|AK BHE |4=E+ F4V| 5 4 3 5 3 2 5 2 3 |32
30 |=5F #eR |23 Daiv|BNIN B= |57 vavyy| 4 4 3 6 3 4 3 4 2 | 33
31 ([B% DEBEE |#h/ e0L |5F B |%h/ YRTYU| 4 4 3 5 4 2 5 4 2 | 33
32 (=7 #EEA |33 FATX| RN Bt |2=H7 F4v| 4 6 3 5 4 2 3 3 3 | 33
33 |WN EPZ [vvoF 2o |(HO BRA |49F FUH 4 4 3 5 5 3 3 3 3 | 33
34 |1 ME |[¥T/ a9NA|EIEF FH—H|~T/ avqFay| 4 5 4 4 4 2 4 3 3 | 33
35 |[E% BK |YxT/ yo4 |EF BN |vT/ I9RS| 4 3 3 7 3 3 4 3 3 | 33
36 |EE FEHE|VY R/A EE EB |~ AP 4 4 2 5 4 2 4 4 4 | 33
37 |iEEE X |3VRY USK|ERE Mt |auRy Xy 4 | 5| 2| 4| 4| 2| 5] 4| 4|34
38 |£%¥ A YT/ oo+ (LB RER (wxT/ POw | 4 4 3 5 3 3 4 3 5 | 34
39 |FE ot [7Hs v |[KH RE [7hH/ LRTH 5 5 4 6 3 3 4 3 2 | 35
40 |GTFE @K |17V I0R|FFE KEFITV/ IR 4 5 3 6 3 5 4 3 2 | 35
41 [BER DB |FUES 3oL (L KF |vwox avF| 4| 6| 2| 5| 4| 3] 5] 3] 3|35
42 (B TR |RYLY FA B Bk |vviw 474 4| 4| 4| 6| 4| 3| 3| 4| 3|35
43 |FEHF B |Th/ FUFx |KH RE [TH/ LRTH 5 4 2 4 4 3 6 4 3|35
44 |hE BEF |FHhHA YYD [hE Ht [FhHF <Hv | 5 3 4 7 4 3 4 1 4 | 35
45 (1% RiX |[wxT/ 394 |FiEH #—Ei~z/ av Fay| 6 4 3 5 4 3 4 4 3 | 36
46 (Y8 FEX |RY HUT Wil FOF |vvoE AXE| 4 4 3 7 4 3 4 4 3 | 36
47 (BR BT |[Y31Y avx\adm ML |34 7% | 4 5 3 6 3 3 5 4 3 | 36
48 |RE W®fE |+4H4 v+ |KRE BE |+44 enea| 6 4 3 3 4 3 5 4 4 | 36
49 (AR HRRER |=vEr avvoy MK 1§ <YEF ERY| 5 4 5 6 3 3 4 4 3 | 37
50 (kA F=A |44% +H3 [KFA EEISN 4457 5 4 3 6 6 4 4 3 3 | 38
51 |MBE B ([vyi~ ht (B BX |[vvi~ 474| 4 5 4 6 4 4 4 3 4 | 38
52 |E&TF SFU4 a9 BT HBHE |SFV4 A4S 5 4 4 6 4 4 5 3 4 | 39
53 [#FF 2 [*VLT Yx (KR B O[(YPEN /10| 6 5 6 5 3 6 5 4 | 50




